
Name _________________________      Period: _______ 

Sexual reproduction and meiosis review 

1. During fertilization, what 2 cells fuse or combine? _________________________ 

2. During fertilization, are the cells that combine haploid or diploid? ______________ 

3. What is produced at the end of fertilization? _______________ 

4. Is this cell at the end of fertilization haploid or diploid? ________________ 

5. What will this final cell of fertilization become? ___________________ 

6. Mitosis is ___________ reproduction whereas meiosis is ___________ reproduction. 

7. Which process Meiosis or Mitosis maintains a constant/same number of chromosomes in a 

species? _________ 

8. What type of cell Body or Sex cell (Gamete) have a diploid number of chromosomes? 

_______________ 

9. What type of cell Body or Sex cell (Gamete) have a haploid number of chromosomes? 

________________ 

Complete the following chart on chromosome numbers for the species listed. 

 
Species Chromosome Number 

in body/somatic cells 
(2n) 

Chromosome Number in 
sex cells/gametes (n)  

 
Homo sapiens 

Human 

2n = 46 n= 23  

fruit fly 2n = 8 n= 
leopard frog 2n =  n=13 

housefly 2n= n=6 
monkey 2n=42 n= 

bat 2n= n=22 
chicken 2n=78 n= 

king crab 2n= n=104 
camel 2n = 70 n= 
goat 2n= n=30 

armadillo 2n=64 n= 
petunia 2n= n=7 

rice 2n =  n=12 
 

 



Now answer similar questions by reading carefully whether gamete number, 
chromosome pairs or chromosome number is asked for. 

_________ Dogs have 78 chromosomes in their body/somatic cells. How many chromosomes are in              
their sex cells/gametes?  

_________ How many pairs of chromosomes do dogs have in their body cells/somatic cells? 

_________ Cats have 38 chromosomes in their somatic cells. How many chromosomes are in their 
sex cells/gametes? 

_________ Horses have 32 chromosomes in their gametes. How many chromosomes are in the 
body cell/somatic cell? 

_________ How many chromosome pairs does a horse have in its body/somatic cells? 

_________ Wheat has 42 chromosomes. How many chromosomes are in the eggs and pollen? 

General Comparison of Mitosis and Meiosis.  

Each characteristic or event below applies to mitosis, meiosis, or both. Indicate which type of 
division in the lines provided. 

____________ One cell divides 2 times to form 4 cells. 

____________ Formation of gametes in eukaryotic cells. 

____________ Zygote (fertilized egg) divides to form the trillion-celled baby. 

____________ daughter cells have the identical chromosomes as the parent cell 

____________ pairing up and crossing over between homologous chromosome pairs occurs at  

         prophase 

____________ daughter cells are genetically different from each other and from the parent cell 

____________ DNA replicates before cell division 

____________ one cell divides to form 2 identical cells 

____________ daughter cells have exactly ½ the number of chromosomes as the parent cell 

____________ cells in our body such as skin cells, blood cells, bone cells divide by this process 

____________ One division takes place 

____________ Homologous Chromosomes are paired 

____________ Maintains the chromosome number of a species 

____________ diploid cells are formed 

____________ haploid cells are formed 

____________ replicated chromosomes line up in the middle of the cell.  



 

 

Which picture from the above diagrams shows 4 haploid daughter cells? ______ 

Which picture from the above diagrams shows the sister chromatids separating? ______ 



 

   

 

 ________________   20. Mitosis is represented by the diagram to the right        

     

 _________________   21. Sperm and eggs are produced through meiosis.  

 

 _________________   22. A zygote results from the following:                 +  =  

  
 
 
 
Karyotypes show pairs of homologous chromosomes. Draw a pair of homologous 
chromosomes.  
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Fix underlined word if statement is  
False.  

	


